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Section : Language Il




Comprehension:
Read the passage given below and answer the question that follow
by choosing the correct/most appropriate options.

In the present predicament when we are not able to adjust
ourselves to the new conditions which science has brought about, it
is not easy to adopt the principles of non-violence, truth and
understanding. But on that ground we should not give up the effort.
While the obstinacy of the political leaders puts fear into our hearts,
the common sense and conscience of the people of the world give
us hope. With the increased velocity of modern changes we do not
know what the world will be a hundred years hence. We cannot
anticipate the future currents of thought and feeling. But years may
go their way, yet the great principal of satya and ahimsa, truth and
non-violence, are there to guide us. They are the silent stars keeping
holy vigil above a tired and turbulent world. Like Gandhi we may be
firm in our conviction that the sun shines above the drifting clouds.
We live in an age which is aware of its own defeat and moral
coarsening, an age in which old certainties are breaking down, the
familiar patterns are tilting and cracking. There is increasing
intolerance and embitterment. The creative flame that kindled the
great human society is languishing. The human mind in all its baffling
strangeness and variety produces contrary types, a Buddha or a

Gandhi, a Nero or a Hitler. It is our pride that one of the greatest
figures of history lived in our generations, walked with us, spoke to
us, taught us the way of civilized living. He who wrongs no one fears
no one. He has nothing to hide and so is fearless. He looks everyone
in the face. His step is firm, his body upright, and his words are
direct and straight. Plato said long ago: ‘There always are in the
world a few inspired men whose acquaintance is beyond price.’

SubQuestion No : 1

Q@1 Which of the following is not a characteristic of modern
Age?
1) Social coarseness and moral degradation
2) Breaking down of conventional values
3) Reviving of traditional familiar patterns
4} Increasing intolerance and embitterment
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q.2

Comprehension:
Read the passage given below and answer the question that follow
by choosing the correct/most appropriate options.

In the present predicament when we are not able to adjust
ourselves to the new conditions which science has brought about, it
is not easy to adopt the principles of non-violence, truth and
understanding. But on that ground we should not give up the effort.
While the obstinacy of the political leaders puts fear into our hearts,
the common sense and conscience of the people of the world give
us hope. With the increased velocity of modern changes we do not
know what the world will be a hundred years hence. We cannot
anticipate the future currents of thought and feeling. But years may
go their way, yet the great principal of satya and ahimsa, truth and
non-violence, are there to guide us. They are the silent stars keeping
holy vigil above a tired and turbulent world. Like Gandhi we may be
firm in our conviction that the sun shines above the drifting clouds.
We live in an age which is aware of its own defeat and moral
coarsening, an age in which old certainties are breaking down, the
familiar patterns are tilting and cracking. There is increasing
intolerance and embitterment. The creative flame that kindled the
great human society is languishing. The human mind in all its baffling
strangeness and variety produces contrary types, a Buddha or a

Gandhi, a Nero or a Hitler. It is our pride that one of the greatest
figures of history lived in our generations, walked with us, spoke to
us, taught us the way of civilized living. He who wrongs no one fears
no one. He has nothing to hide and so is fearless. He looks everyone
in the face. His step is firm, his body upright, and his words are
direct and straight. Plato said long ago: ‘There always are in the
world a few inspired men whose acquaintance is beyond price.’

SubQuestion No : 2

Name the part of speech of the underlined word in the
sentence The ereative flame that kindled the great human
society is languishing.

1) Adjective
2) Verb

3) Noun

4) Adverb

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q3

Comprehension:
Read the passage given below and answer the question that follow
by choosing the correct/most appropriate options.

In the present predicament when we are not able to adjust
ourselves to the new conditions which science has brought about, it
is not easy to adopt the principles of non-violence, truth and
understanding. But on that ground we should not give up the effort.
While the obstinacy of the political leaders puts fear into our hearts,
the common sense and conscience of the people of the world give
us hope. With the increased velocity of modern changes we do not
know what the world will be a hundred years hence. We cannot
anticipate the future currents of thought and feeling. But years may
go their way, yet the great principal of satya and ahimsa, truth and
non-violence, are there to guide us. They are the silent stars keeping
holy vigil above a tired and turbulent world. Like Gandhi we may be
firm in our conviction that the sun shines above the drifting clouds.
We live in an age which is aware of its own defeat and moral
coarsening, an age in which old certainties are breaking down, the
familiar patterns are tilting and cracking. There is increasing
intolerance and embitterment. The creative flame that kindled the
great human society is languishing. The human mind in all its baffling
strangeness and variety produces contrary types, a Buddha or a

Gandhi, a Nero or a Hitler. It is our pride that one of the greatest
figures of history lived in our generations, walked with us, spoke to
us, taught us the way of civilized living. He who wrongs no one fears
no one. He has nothing to hide and so is fearless. He looks everyone
in the face. His step is firm, his body upright, and his words are
direct and straight. Plato said long ago: ‘There always are in the
world a few inspired men whose acquaintance is beyond price.’

SubQuestion No : 3

It is difficult to predict the world after hundred years from
today because

1) science has changed the world

2) modern society is changing very rapidly

3) life style is unpredictable

4) our thoughts and perceptions are subjects to change

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q.4

Comprehension:
Read the passage given below and answer the question that follow
by choosing the correct/most appropriate options.

In the present predicament when we are not able to adjust
ourselves to the new conditions which science has brought about, it
is not easy to adopt the principles of non-violence, truth and
understanding. But on that ground we should not give up the effort.
While the obstinacy of the political leaders puts fear into our hearts,
the common sense and conscience of the people of the world give
us hope. With the increased velocity of modern changes we do not
know what the world will be a hundred years hence. We cannot
anticipate the future currents of thought and feeling. But years may
go their way, yet the great principal of satya and ahimsa, truth and
non-violence, are there to guide us. They are the silent stars keeping
holy vigil above a tired and turbulent world. Like Gandhi we may be
firm in our conviction that the sun shines above the drifting clouds.
We live in an age which is aware of its own defeat and moral
coarsening, an age in which old certainties are breaking down, the
familiar patterns are tilting and cracking. There is increasing
intolerance and embitterment. The creative flame that kindled the
great human society is languishing. The human mind in all its baffling
strangeness and variety produces contrary types, a Buddha or a

Gandhi, a Nero or a Hitler. It is our pride that one of the greatest
figures of history lived in our generations, walked with us, spoke to
us, taught us the way of civilized living. He who wrongs no one fears
no one. He has nothing to hide and so is fearless. He looks everyone
in the face. His step is firm, his body upright, and his words are
direct and straight. Plato said long ago: ‘There always are in the
world a few inspired men whose acquaintance is beyond price.’

SubQuestion No : 4

It is not easy to follovw the principles of non —viclence and
truth because

1) scientific innovations in modern age are not free
from viclence

2) science & technology have changed the perception
of truth and non — violence.

3) new condition in society and religious beliefs can not
exist together.

4) there is the problem of adjustment between
emerging new conditions which science has brought
about.

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Status : Answered




Chosen Option : 2

Q.5

Comprehension:
Read the passage given below and answer the question that follow
by choosing the correct/most appropriate options.

In the present predicament when we are not able to adjust
ourselves to the new conditions which science has brought about, it
is not easy to adopt the principles of hon-violence, truth and
understanding. But on that ground we should not give up the effort.
While the obstinacy of the political leaders puts fear into our hearts,
the common sense and conscience of the people of the world give
us hope. With the increased velocity of modern changes we do not
know what the world will be a hundred years hence. We cannot
anticipate the future currents of thought and feeling. But years may
go their way, yet the great principal of satya and ahimsa, truth and
non-violence, are there to guide us. They are the silent stars keeping
holy vigil above a tired and turbulent world. Like Gandhi we may be
firm in our conviction that the sun shines above the drifting clouds.
We live in an age which is aware of its own defeat and moral
coarsening, an age in which old certainties are breaking down, the
familiar patterns are tilting and cracking. There is increasing
intolerance and embitterment. The creative flame that kindled the
great human society is languishing. The human mind in all its baffling
strangeness and variety produces contrary types, a Buddha or a

Gandhi, a Nero or a Hitler. It is our pride that one of the greatest
figures of history lived in our generations, walked with us, spoke to
us, taught us the way of civilized living. He who wrongs no one fears
no one. He has nothing to hide and so is fearless. He looks everyone
in the face. His step is firm, his body upright, and his words are
direct and straight. Plato said long ago: ‘There always are in the
world a few inspired men whose acquaintance is beyond price.’

SubQuestion No : 5

Which of the following is nearest in meaning to word
‘nredicament’?

1) dilemma

2) circumstance
3) situation

4) tranquillity

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.6

Comprehension:
Read the passage given below and answer the question that follow
by choosing the correct/most appropriate options.

In the present predicament when we are not able to adjust
ourselves to the new conditions which science has brought about, it
is not easy to adopt the principles of non-violence, truth and
understanding. But on that ground we should not give up the effort.
While the obstinacy of the political leaders puts fear into our hearts,
the common sense and conscience of the people of the world give
us hope. With the increased velocity of modern changes we do not
know what the world will be a hundred years hence. We cannot
anticipate the future currents of thought and feeling. But years may
go their way, yet the great principal of satya and ahimsa, truth and
non-violence, are there to guide us. They are the silent stars keeping
holy vigil above a tired and turbulent world. Like Gandhi we may be
firm in our conviction that the sun shines above the drifting clouds.
We live in an age which is aware of its own defeat and moral
coarsening, an age in which old certainties are breaking down, the
familiar patterns are tilting and cracking. There is increasing
intolerance and embitterment. The creative flame that kindled the
great human society is languishing. The human mind in all its baffling
strangeness and variety produces contrary types, a Buddha or a

Gandhi, a Nero or a Hitler. It is our pride that one of the greatest
figures of history lived in our generations, walked with us, spoke to
us, taught us the way of civilized living. He who wrongs no one fears
no one. He has nothing to hide and so is fearless. He looks everyone
in the face. His step is firm, his body upright, and his words are
direct and straight. Plato said long ago: ‘There always are in the
world a few inspired men whose acquaintance is beyond price.’

SubQuestion No : 6

What according to the writer instils fear into our heart?

1) Lack of honest and committed leaders
2) Overriding ambition of politicians

3) Obstinacy of our political leaders

4) Declining moral statements

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.7

Comprehension:
Read the passage given below and answer the question that follow
by choosing the correct/most appropriate options.

In the present predicament when we are not able to adjust
ourselves to the new conditions which science has brought about, it
is not easy to adopt the principles of non-violence, truth and
understanding. But on that ground we should not give up the effort.
While the obstinacy of the political leaders puts fear into our hearts,
the common sense and conscience of the people of the world give
us hope. With the increased velocity of modern changes we do not
know what the world will be a hundred years hence. We cannot
anticipate the future currents of thought and feeling. But years may
go their way, yet the great principal of satya and ahimsa, truth and
non-violence, are there to guide us. They are the silent stars keeping
holy vigil above a tired and turbulent world. Like Gandhi we may be
firm in our conviction that the sun shines above the drifting clouds.
We live in an age which is aware of its own defeat and moral
coarsening, an age in which old certainties are breaking down, the
familiar patterns are tilting and cracking. There is increasing
intolerance and embitterment. The creative flame that kindled the
great human society is languishing. The human mind in all its baffling
strangeness and variety produces contrary types, a Buddha or a

Gandhi, a Nero or a Hitler. It is our pride that one of the greatest
figures of history lived in our generations, walked with us, spoke to
us, taught us the way of civilized living. He who wrongs no one fears
no one. He has nothing to hide and so is fearless. He looks everyone
in the face. His step is firm, his body upright, and his words are
direct and straight. Plato said long ago: ‘There always are in the
world a few inspired men whose acquaintance is beyond price.’

SubQuestion No : 7

Choose the correct antonym of the underlined word from
the given alternatives — “ ‘obstinacy’ of the pelitical leaders

puts fears into our hearts”

1) tenacity
2) obduracy
3) tractability
4) compliance

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:
Read the passage given below and answer the question that follow
by choosing the correct/most appropriate options.

In the present predicament when we are not able to adjust
ourselves to the new conditions which science has brought about, it
is not easy to adopt the principles of non-violence, truth and
understanding. But on that ground we should not give up the effort.
While the obstinacy of the political leaders puts fear into our hearts,
the common sense and conscience of the people of the world give
us hope. With the increased velocity of modern changes we do not
know what the world will be a hundred years hence. We cannot
anticipate the future currents of thought and feeling. But years may
go their way, yet the great principal of satya and ahimsa, truth and
non-violence, are there to guide us. They are the silent stars keeping
holy vigil above a tired and turbulent world. Like Gandhi we may be
firm in our conviction that the sun shines above the drifting clouds.
We live in an age which is aware of its own defeat and moral
coarsening, an age in which old certainties are breaking down, the
familiar patterns are tilting and cracking. There is increasing
intolerance and embitterment. The creative flame that kindled the
great human society is languishing. The human mind in all its baffling
strangeness and variety produces contrary types, a Buddha or a

Gandhi, a Nero or a Hitler. It is our pride that one of the greatest
figures of history lived in our generations, walked with us, spoke to
us, taught us the way of civilized living. He who wrongs no one fears
no one. He has nothing to hide and so is fearless. He looks everyone
in the face. His step is firm, his body upright, and his words are
direct and straight. Plato said long ago: ‘There always are in the
world a few inspired men whose acquaintance is beyond price.’

SubQuestion No : 8

@8 \Which part of the following sentence contains an error?
The enquiry.committee comprised of
(a) (b)
two retired judges and two technocrats
(c) (d)
1. g
2. (b)
3. (a)
4. (d)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1




Comprehension:

Read the passage given below and answer the questions that follow
by selecting the correct/most appropriate options.

Buddha's method was one of psychological analysis and, again, itis
surprising to find how deep was his insight into this latest of modern
sciences. Man’s life was considered and examined without any
reference to a permanent self, for even if such a self exists, itis
beyond our comprehension. The mind was looked upon as part of
the body, a composite of mental forces. The individual thus becomes
a bundle of mental states, the self is just a stream of ideas. ‘All that
we are is the result of what we have thought'. There is an emphasis
on the pain and suffering of life, and the ‘Four Noble Truths’ which
Buddha enunciated deal with this suffering, its cause , the possibility
of ending it, and the way to do it . Speaking to his disciples, he is
reported to have said: ‘and while ye experienced this (sorrow)
through long ages, more tears have flowed from you and have been
shed by you, while ye strayed and wandered on this pilgrimage (of
life), and sorrowed and wept, because that was your portion which
ye abhorred, and that which ye loved was not your portion, than all
the water which is in the four great oceans’ Buddha told his disciples
what he thought they could understand and live up to. His teaching
was not meant to be a full explanation of everything, a complete
revelation of all that is. Once it is said , he look some dry leaves in his
hand and asked his favourite disciple, Ananda, to tell him whether
there were any other leaves besides those in his hand. Ananda
replied : The leaves of autumn are falling on all sides, and there are
more of them than can be numbered, Then said the Buddha: ‘In like
manner | have given you a handful of truths, but besides these are
many thousand of other truths, more than can be numbered.’

SubQuestion No : 9

Q9 After the emergence of new scientific approaches ‘the self’,

came to be considered as

1) a permanent enfity in physical body

2) beyond comprehension

3) acomposite of conflicting mental forces
4) astream of ideas

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions that follow
by selecting the correct/most appropriate options.

Buddha's method was one of psychological analysis and, again, itis
surprising to find how deep was his insight into this latest of modern
sciences. Man’s life was considered and examined without any
reference to a permanent self, for even if such a self exists, itis
beyond our comprehension. The mind was looked upon as part of
the body, a composite of mental forces. The individual thus becomes
a bundle of mental states, the self is just a stream of ideas. ‘All that
we are is the result of what we have thought'. There is an emphasis
on the pain and suffering of life, and the ‘Four Noble Truths” which
Buddha enunciated deal with this suffering, its cause , the possibility
of ending it, and the way to do it . Speaking to his disciples, he is
reported to have said: ‘and while ye experienced this (sorrow)
through long ages, more tears have flowed from you and have been
shed by you, while ye strayed and wandered on this pilgrimage (of
life), and sorrowed and wept, because that was your portion which
ye abhorred, and that which ye loved was not your portion, than all
the water which is in the four great oceans’ Buddha told his disciples
what he thought they could understand and live up to. His teaching
was not meant to be a full explanation of everything, a complete
revelation of all that is. Once it is said , he look some dry leaves in his
hand and asked his favourite disciple, Ananda, to tell him whether
there were any other leaves besides those in his hand. Ananda
replied : The leaves of autumn are falling on all sides, and there are
more of them than can be numbered, Then said the Buddha: ‘In like
manner | have given you a handful of truths, but besides these are
many thousand of other truths, more than can be numbered.’

SubQuestion No : 10

Q10 \wWhich of the following words has the same meaning s as
the word, ‘permanent’ used in the passage?

1. unending
2. lasting
3. remaining
4, sustaining
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions that follow
by selecting the correct/most appropriate options.

Buddha's method was one of psychological analysis and, again, itis
surprising to find how deep was his insight into this latest of modern
sciences. Man’s life was considered and examined without any
reference to a permanent self, for even if such a self exists, itis
beyond our comprehension. The mind was looked upon as part of
the body, a composite of mental forces. The individual thus becomes
a bundle of mental states, the self is just a stream of ideas. ‘All that
we are is the result of what we have thought'. There is an emphasis
on the pain and suffering of life, and the ‘Four Noble Truths” which
Buddha enunciated deal with this suffering, its cause , the possibility
of ending it, and the way to do it . Speaking to his disciples, he is
reported to have said: ‘and while ye experienced this (sorrow)
through long ages, more tears have flowed from you and have been
shed by you, while ye strayed and wandered on this pilgrimage (of
life), and sorrowed and wept, because that was your portion which
ye abhorred, and that which ye loved was not your portion, than all
the water which is in the four great oceans’ Buddha told his disciples
what he thought they could understand and live up to. His teaching
was not meant to be a full explanation of everything, a complete
revelation of all that is. Once it is said , he look some dry leaves in his
hand and asked his favourite disciple, Ananda, to tell him whether
there were any other leaves besides those in his hand. Ananda
replied : The leaves of autumn are falling on all sides, and there are
more of them than can be numbered, Then said the Buddha: ‘In like
manner | have given you a handful of truths, but besides these are
many thousand of other truths, more than can be numbered.’

SubQuestion No : 11

Q11 \Which of the following is not one of the ‘Four Noble Truths’

as enunciated-by the Buddha?

1) Thereis suffering in the world

2) There is a cause of this suffering

3) The suffering has a demoralising effect on us
4) There is possibility of ending the suffering

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions that follow
by selecting the correct/most appropriate options.

Buddha's method was one of psychological analysis and, again, itis
surprising to find how deep was his insight into this latest of modern
sciences. Man’s life was considered and examined without any
reference to a permanent self, for even if such a self exists, itis
beyond our comprehension. The mind was looked upon as part of
the body, a composite of mental forces. The individual thus becomes
a bundle of mental states, the self is just a stream of ideas. ‘All that
we are is the result of what we have thought'. There is an emphasis
on the pain and suffering of life, and the ‘Four Noble Truths’ which
Buddha enunciated deal with this suffering, its cause , the possibility
of ending it, and the way to do it . Speaking to his disciples, he is
reported to have said: ‘and while ye experienced this (sorrow)
through long ages, more tears have flowed from you and have been
shed by you, while ye strayed and wandered on this pilgrimage (of
life), and sorrowed and wept, because that was your portion which
ye abhorred, and that which ye loved was not your portion, than all
the water which is in the four great oceans’ Buddha told his disciples
what he thought they could understand and live up to. His teaching
was not meant to be a full explanation of everything, a complete
revelation of all that is. Once it is said , he look some dry leaves in his
hand and asked his favourite disciple, Ananda, to tell him whether
there were any other leaves besides those in his hand. Ananda
replied : The leaves of autumn are falling on all sides, and there are
more of them than can be numbered, Then said the Buddha: ‘In like
manner | have given you a handful of truths, but besides these are
many thousand of other truths, more than can be numbered.’

SubQuestion No : 12

Q@12 pyddha’s method of understanding ‘the self’ can be
described as

1. metaphysical
2. philosophical
3. moralistic
4. scientific
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1




Comprehension:

Read the passage given below and answer the questions that follow
by selecting the correct/most appropriate options.

Buddha's method was one of psychological analysis and, again, itis
surprising to find how deep was his insight into this latest of modern
sciences. Man’s life was considered and examined without any
reference to a permanent self, for even if such a self exists, itis
beyond our comprehension. The mind was looked upon as part of
the body, a composite of mental forces. The individual thus becomes
a bundle of mental states, the self is just a stream of ideas. ‘All that
we are is the result of what we have thought'. There is an emphasis
on the pain and suffering of life, and the ‘Four Noble Truths’ which
Buddha enunciated deal with this suffering, its cause , the possibility
of ending it, and the way to do it . Speaking to his disciples, he is
reported to have said: ‘and while ye experienced this (sorrow)
through long ages, more tears have flowed from you and have been
shed by you, while ye strayed and wandered on this pilgrimage (of
life), and sorrowed and wept, because that was your portion which
ye abhorred, and that which ye loved was not your portion, than all
the water which is in the four great oceans’ Buddha told his disciples
what he thought they could understand and live up to. His teaching
was not meant to be a full explanation of everything, a complete
revelation of all that is. Once it is said , he look some dry leaves in his
hand and asked his favourite disciple, Ananda, to tell him whether
there were any other leaves besides those in his hand. Ananda
replied : The leaves of autumn are falling on all sides, and there are
more of them than can be numbered, Then said the Buddha: ‘In like
manner | have given you a handful of truths, but besides these are
many thousand of other truths, more than can be numbered.’

SubQuestion No : 13

Q13 |dentify the clause used in the underlined part of the

sentence “Buddha told his disciples what hetaught they
could understand and live up to”

1)
2)
3)

)

MNoun clause
Adjective clause
Adverb clause
4) Principal clause

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Read the passage given below and answer the questions that follow
by selecting the correct/most appropriate options.

Buddha's method was one of psychological analysis and, again, itis
surprising to find how deep was his insight into this latest of modern
sciences. Man’s life was considered and examined without any
reference to a permanent self, for even if such a self exists, itis
beyond our comprehension. The mind was looked upon as part of
the body, a composite of mental forces. The individual thus becomes
a bundle of mental states, the self is just a stream of ideas. ‘All that
we are is the result of what we have thought'. There is an emphasis
on the pain and suffering of life, and the ‘Four Noble Truths’ which
Buddha enunciated deal with this suffering, its cause , the possibility
of ending it, and the way to do it . Speaking to his disciples, he is
reported to have said: ‘and while ye experienced this (sorrow)
through long ages, more tears have flowed from you and have been
shed by you, while ye strayed and wandered on this pilgrimage (of
life), and sorrowed and wept, because that was your portion which
ye abhorred, and that which ye loved was not your portion, than all
the water which is in the four great oceans’ Buddha told his disciples
what he thought they could understand and live up to. His teaching
was not meant to be a full explanation of everything, a complete
revelation of all that is. Once it is said , he look some dry leaves in his
hand and asked his favourite disciple, Ananda, to tell him whether
there were any other leaves besides those in his hand. Ananda
replied : The leaves of autumn are falling on all sides, and there are
more of them than can be numbered, Then said the Buddha: ‘In like
manner | have given you a handful of truths, but besides these are
many thousand of other truths, more than can be numbered.’

SubQuestion No : 14

Q14 Chgose the nearest antonym of the word — ‘abhorred’

1) flattered
2) entertained
3) loved
4) admonished
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions that follow
by selecting the correct/most appropriate options.

Buddha's method was one of psychological analysis and, again, itis
surprising to find how deep was his insight into this latest of modern
sciences. Man’s life was considered and examined without any
reference to a permanent self, for even if such a self exists, itis
beyond our comprehension. The mind was looked upon as part of
the body, a composite of mental forces. The individual thus becomes
a bundle of mental states, the self is just a stream of ideas. ‘All that
we are is the result of what we have thought'. There is an emphasis
on the pain and suffering of life, and the ‘Four Noble Truths’ which
Buddha enunciated deal with this suffering, its cause , the possibility
of ending it, and the way to do it . Speaking to his disciples, he is
reported to have said: ‘and while ye experienced this (sorrow)
through long ages, more tears have flowed from you and have been
shed by you, while ye strayed and wandered on this pilgrimage (of
life), and sorrowed and wept, because that was your portion which
ye abhorred, and that which ye loved was not your portion, than all
the water which is in the four great oceans’ Buddha told his disciples
what he thought they could understand and live up to. His teaching
was not meant to be a full explanation of everything, a complete
revelation of all that is. Once it is said , he look some dry leaves in his
hand and asked his favourite disciple, Ananda, to tell him whether
there were any other leaves besides those in his hand. Ananda
replied : The leaves of autumn are falling on all sides, and there are
more of them than can be numbered, Then said the Buddha: ‘In like
manner | have given you a handful of truths, but besides these are
many thousand of other truths, more than can be numbered.’

SubQuestion No : 15

Q15 The most important characteristics of the Buddha’s
teaching is

1) complete explanation of the fact.

2) emphasis on cleansing oneself of what is base.
3) realization with the help of an illustration

4} involving people in discussion

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q16 Remedial teaching is meant to

1) improve the learner’s learning.
2) improve both the learners learning and teachers teaching.
3) improve the performance of the learners in the test.
4) improve the class performance.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q.17 Ateacher divided the students of class IV into groups of six and gave them a short story without its ending. Then she
asked them to imagine , discuss, finalise and write an ending to the story. In this activity the teacher is developing their

1) controlled writing
2) guided writing

3) creative writing
4) product writing

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q18 grory telling as a strategy for language learning aims at
1) teaching morals to learners
2) enabling teachers to learn by heart the story
3) enabling learners to read the story
4) engaginglearner with language
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q19 Guided composition should be usually introduced at

1) latent stage
2) early stage
3) adolescence stage
4} adult stage

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.20 While developing writing skills among the students, a language teacher should most importantly focus on

1) good handwriting
2) grammatical aspects
3) word limits

4) expression of ideas

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.21 The first page of a language textbook of class | is a picture of a fair scene without any word or sentences written on it .
The objective of this picture for learners is
1) its fun to look at picture
2) to understand and analyse the picture
3) to give them opportunity to draw such picture
4) toincrease their patience in reading the book

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.22 Itis common for language speakers to use the words and sentence from other languages(s). What is this known as?

1) Code switching and code mixing
2) Language Transmission

3) Language in context

4) Sociolinguistic behaviour

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q23 (Cognitive learning theory does not focus on

1) human beings are born with a built in language device
2) error as a part of the learning process
3) language is learnt through the process of habit formation
4) language is learnt by involving reasoning and mental processes
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.24 Assertion (A) : A teacher must relate the structure to communicative function in the class,
Reason (R) : Practice of communicative functions enables the learner to perform well in society

1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
3) (A)is true but (R) is false

4) (A) is false but (R) is true

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q25 Eytensive reading is aimed at promoting

1) reading for pleasure

2) reading for test

3) reading for information

4) reading to know about the author
Options 1. 1

2.2

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.26 \Which of the following need not to be discussed in a poetry classroom ?

1) ideas and themes of the poem
2) Rhyming scheme

3) Poetic devices

4) Grammar

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q27 Multilingualism as a strategy means

1) teaching of many languages in school.

2) teaching — learning of mother tongues of all learners.
3) making use of the languages of learners.

4) enabling learners to learn foreign languages.

Options 1. 1

2.2

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q28 Reading pedagogy advocates that

1) reading is meaning making
2) reading is decoding
3) reading is encoding the idea of the text
4) reading is required to become a writer
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.29 Dictionary is very important tool for learning a language. Which of the following is least important about the use of
dictionary?

1) Check the spelling of a word

2) Looking the meaning of a word

3) Check the passive voice of a word
4) Check the part of speech of a word

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.30 Acollection of short stories and other narratives are prescribed as supplementary reader for language learning? What
is the major purpose of the supplementary reader?

1) To promote intensive reading
2) To promote moral learning
3) To promote extensive reading
4) To promote academic skills

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




